Math 1050 A2.7 Inverse

1.

= 6=
Make a table of the above graph. Then create an
inverse table. Graph the inverse function.

of a function is given. Use the graph to find the

a.f'@2) = b.f'(3) =

c. [(6)=

Make a table of the above graph. Then create an
inverse table. Graph the inverse function.

4. Determine if the following are one-to-one.
a. fx)=x>+8

b. fx)=x*—2x

e fly=1

d. fx) = x|

5. Use the inverse property to show that f and g are
inverses of each other.

f)=3—-4 glr) =7

6. Use the inverse property to show that f and g are
inverses of each other.

f)=x2-4,x>0 gx)=Vx+4, x>4




7. Use the inverse property to show that f and g are
inverses of each other.

f) = glx)=1+1

8. Use the inverse property to show that f and g are
inverses of each other.

f) =53 glx) =

_ 2x+2

9. Find the inverse.

f(x)=5—4x°

10. Find the inverse.

Jx) =

x+4

11. Find the inverse.

f) =25

12. Find the inverse.
fo)=1+VT+x

13. Sketch the graph of f(x)=1-x>
Then sketch the graph of the inverse graph.
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14. If f(x)=x*+x+1 and g(x)=x—3
find the following.

a) fog

b) (g(f(=2))
) gof

d) f-g

e) (flg(-2)
N reg




Graph and label the following on the either of the 2
graphs provided.

a. —f(—x) b. 4—f(x)

c. Jf(x+2) d. f(2x)

el
&
»

-y
L]

-t,nl

R

et
[a=)

16. Find the average rate of change of
f(x)=(x+1)2; xX=a,x=a+h

17. Find the equations of the graph below.
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